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A tugboat pulls a cruise ship for 40 minutes with a force F=(2.4 MN)Z+(4.8 MN)F.

‘moving the ship along a straigh makes displacen fae
F=(420 m)x+(750 m)y. FOH i
[Hint: 1 MN=10¢ NJ.
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What is the power of the engine of the tugboat? XTY5 RCPLPEL |
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What is the output power of the tow truck?

Ao uap 1. 210° kg YIS § e unaal Alall 300
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S LS 6394 N

A tow truck is used to pull up a 1. 2x10°kg
car, with constant velocity of 9 m/sona
rough plane inclined at 14. 15" with the
horizontal, using a rope. The tenstion force
in the rope is constant and equals 6394 N,
as shown in the figure.
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The rope connecting the car with the

tow truck breaks when the car is at

height of 2.2 m from the ground, the

- car continues moving for 7.6 m on

the inclined survace before it stops at

“a height of 4.1 m. What is the work

| done by friction force on the car after
the break up?
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Laft/ jp | pack
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Aw 25 kg slides ho | springs
ooden block its mass of 0 3 :[ﬂereﬂt lloriml‘mm:pression is 16 cm, the

frictionless surface between
aximum
The spring on the left k,,=13c|;’-5 ,and jts m

spring on the right kg

Find the maximum compression
the spring on the right.
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Iculate the maximum velocity of the wooden s ;ﬂl_nj“ ;—u s
block as it moves betiveen the two horizonta 2 ‘:yn ) o
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@16 [ | | ey > Variation of the force acting on the ball
Jp— - withtime during the collision.

the magnitude of the change i,
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